Schreiben Sie ein KreditberechnungsProgramm mit folgenden Vorgaben: 

labe1 = KreditBetrag ( € ) 

tf1 = getText()

label2 = Zins ( % )

tf2 = getText()

label3 = Laufzeit( Monate )

tf3 = getText();

label4 = Rate/Monat ( € )

//////////////////////////////

// Klasse für Amortisationsberechnung

// (Kreditrückzahlung)

import java.text.DecimalFormat;

class KreditBerechnung {

   double zins;

   double zinsbetrag;

   double anfangsbetrag;

   double m_abzahlung;

   int dauer;

   double restbetrag;

   public String berechneAmortisation (double z, double a, int d )  {

       zins          = z;

       anfangsbetrag = a;

       restbetrag    = a;

       dauer         = d;

       DecimalFormat df = new DecimalFormat("000.00");

       DecimalFormat cf = new DecimalFormat("00");

       m_abzahlung = anfangsbetrag / dauer+100;

       int count = 0;

       StringBuffer s=new StringBuffer();

       s.append("Monat     Abzahlung      Zinsbetrag    Rest\n");

       do {

        zinsbetrag =(restbetrag*zins)/100;

        restbetrag = restbetrag - m_abzahlung + zinsbetrag;

        count++;

        s.append(cf.format(count)       +"        "+

                 df.format(m_abzahlung) +"        "+

                 df.format(zinsbetrag)  +"        "+

                 df.format(restbetrag)  +"\n");

       }  while (restbetrag - m_abzahlung >0) ;

       return new String (s);

   }

}
